Homework 4
Due Wednesday February 24, 2010
Name __________________________

Write only your final answers on this paper.  Show all the work you do on additional sheets of paper and attach them to this sheet.

1.
Use the graph to answer the following questions.


a. 
On which interval(s) is the slope of the 



graph positive?  



_________________________________


b.
Draw the tangent line on the graph at 
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.


Circle two points on the tangent line.  Use



These points to estimate the slope of the graph at 
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Slope 
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__________  (Write your answer as a reduced fraction or as decimal.)  


c.
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2.
a.
Use 
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 and the definition of the derivative to find 
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b.
Find the equation of the line tangent to the curve at 
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__________________

3.
Find the first derivative for each function.  Use parentheses appropriately; it is NOT necessary to simplify your answers.

a.

[image: image8.wmf]2

()23

fxx

=-



[image: image9.wmf]()

fx

¢

=

_____________________________________


b.
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c.
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d.

[image: image14.wmf](

)

(

)

2

()223

fxxx

=+-



[image: image15.wmf]=

¢

)

(

x

f

_____________________________________


e.
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f.
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4.
A steel mill find that its cost function is 
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 dollars, where x is the daily production of steel in tons.


a.
Find the marginal cost function.
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b.
Find the marginal cost when 64 tons of steel are produced.
_____________________ 


c.
Find the average cost function.

[image: image22.wmf]()

ACx

=

______________________________________


d.
Find the marginal average cost function.

[image: image23.wmf]()
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